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B.Sc. Part I

CHEMISTRY

Paper II

[Organic Chemistry]

Time : Three Hours ] [ Maximum Marks : 33

uksV % [k.M ^v* vfry?kq mÙkjh; izdkj dk] ftlesa vkB iz'u gSa]
vfuok;Z gSA [k.M ^c* esa y?kq mÙkjh; izdkj ds iz'u gSa ,oa
[k.M ^l* esa nh?kZ mÙkjh; iz'u gSaA [k.M ^v* dks lcls igys
gy fd;k tkuk gSA

Note : Section �A� containing 8 very short answer type
questions, is compulsory. Section �B� consists of
short answer type questions and Section �C�
consists of long answer type questions. Section �A�

has to be solved first.

[k.M ^v*

Section �A�

fuEukafdr vfry?kq mÙkjh; iz'uksa ds mÙkj ,d ;k nks okD;ksa
esa nsaA
Answer the following very short answer type
questions in one or two sentences. 1×8=8

1. dkj.k crkb, dh dejs ds rki ij H2S xSl gS] tcfd

H2O æoA

Give the reasons that H2S is gas while H2O is liquid

at room temperature.

2. ,Fkhyhu] ,Fksu ls vf/kd fØ;k'khy D;ksa gS\

Why ethylene is more reactive than ethane ?

3. fdjyrk dks ifjHkkf"kr dhft,A

Define the Chirality.

4. fuEu esa ls dkSu&lk lewg esVk funsZ'kd lewg gSµ

� CH3, � CHO, � OH rFkk � NH2

Which of the following is the meta directed group :

� CH3, � CHO, � OH and � NH2

5. oqVZ~t vfHkfØ;k dk lehdj.k fyf[k,A

Write the reaction of Wurtz reaction.

6. 3 2 2

3 2

�CH � CH � CH � C CH�
| |

CH NO

 dk vkbZ-;w-ih-,-lh-

uke fyf[k,A

Write the IUPAC name of the following compound :

3 2 2

3 2

�CH � CH � CH � C CH�
| |

CH NO
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7. áwdy fu;e dks ifjHkkf"kr dhft,A

Define the Huckel�s Rule.

8. cSathu esa -bysDVªkWuksa dh la[;k fdruh gksrh gS\

How many number�s of -electrons in Benzene ?

[k.M ^c*

Section �B�

fuEukafdr y?kq mÙkjh; iz'uksa ds mÙkj 150-200 'kCn lhek
esa nsaA

Answer the following short answer type questions

with word limit 150-200. 2×5=10

1. gkbMªkstu ca/k ij laf{kIr fVIi.kh fyf[k,A

Write short notes on hydrogen Bond.

vFkok

Or

leka'k ,oa fo"keka'k fo[k.Mu dks mnkgj.k lfgr le>kb,A

Explain the homolytic and heterolytic bond fission

with example.

2. fl¼ dhft, fd eSysbd vEy esa lei{k rFkk ¶;wesfjd
vEy esa foi{k foU;kl ik;s tkrs g®A

Prove that cis in maleic acid and trans configuration

in fumeric acid found.

vFkok

Or

okYMsu izfrykseu dks foLrkjiwoZd le>kb,A

Explain the Walden inversion in detail.

3. cs;j ds ruko fl¼kUr ds nks"k dks le>kb,A

Explain the drawback�s of Baeyer�s strain theory.

vFkok

Or

v{kh; ,oa fuj{kh; gkbMªkstu dks le>kb,A

Explain the axial and equatorial hydrogen.

4. ,lhfVyhu esa gkbMªkstu dh vEyh; izÏfr dh O;k[;k

dhft,A

Explain the acidity nature of hydrogen in acetylene.

vFkok

Or

MhYl&,YMj vfHkfØ;k dh lehdj.k lfgr O;k[;k

dhft,A

Explain the Diels-Alder reaction by the equation.

5. lsVtsQ fu;e ij fVIi.kh fyf[k,A

Write a note on Saytzeff rule.
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vFkok

Or

SN
1 rFkk SN

2 vfHkfØ;kvksa esa vUrj Li"V dhft,A

Explain the difference between SN
1 and SN

2 reactions.

[k.M ^l*

Section �C�

fuEukafdr nh?kZ mÙkjh; iz'uksa ds mÙkj 300-350 'kCn lhek

esa nsaA

Answer the following long answer type questions

with word limit 300-350. 3×5=15

1. vkWfcZVy ds ladj.k ls D;k rkRi;Z gS\ cU/k dks.k ds eku

ehFksu esa 109°28', veksfu;k esa 106°46' rFkk ty esa

104°27' gSA le>kb, D;ksa\

What is hybridization of orbital ? Explain the bond

angle value is 109°28' in methane, 106°46' in ammonia

and 104°27' in water. Explain why ?

vFkok

Or

lfØ; ek/; D;k gS\ mnkgj.k lfgr le>kb,A

What is active intermediate ? Explain with example.

2. ehlks ;kSfxd vkSj jslhfed feJ.k esa D;k vUrj gS\ Li"V
dhft, fd jslhfed VkVZfjd vEy dk fo;kstu gksrk gS]
ijUrq ehlks VkVZfjd vEy dk fo;kstu ug° gksrk gSA

What is difference between the meso-compound and

racemic mixture ? Explain the racemic tartaric acid

has resolution but meso-tartaric acid does not have

resolution.

vFkok

Or

fuEu ij fVIi.kh fyf[k,µ(dksbZ rhu)

(a) vuqØe fu;e]

(b) vlefer la'ys"k.k]

(c) R-S foU;kl]

(d) E-Z foU;klA

Write notes on : (any three)

(a) Sequence Rule,

(b) Assymetric synthesis,

(c) R-S configuration,

(d) E-Z configuration.

3. cukuk (dsyk) vkca/k fdls dgrs g®\ lkbDyksizksisu rFkk
lkbDyksC;wVsu ds mnkgj.k dks le>kb,A
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What is banana bond ? Explain from the example of

cyclopropane and cyclobutane.

vFkok

Or

cs;j ruko fl¼kUr dks le>kb,A

Explain the Baeyer�s strain theory.

4. ekdksZuhdkWQ dk fu;e D;k gS\ bl fu;e dh O;k[;k

bysDVªkWfud vk/kkj ij dhft,A

What is Markovnikoff�s Rule ? Explain this rule on an

electronic basic.

vFkok

Or

fuEu ij fVIi.kh fyf[k,µ(dksbZ rhu)

(a) ih-oh-lh-]

(b) vkstksuhdj.k]

(c) eLVMZ xSl]

(d) ijkWDlkbM izHkko]

(e) ,ikWDlkbMA

Write notes on the following : (any three)

(a) PVC,

(b) Ozonization,

(c) Mustard gas,

(d) Peroxide effect,

(e) Epoxide.

5. ,fjy gSykbM dk mnkgj.k nsdj cSatkbu fØ;kfof/k dks

le>kb,A

Explain the benyzne mechanism by the example of

aryl halide.

vFkok

Or

fuEu ij fVIi.kh fyf[k,µ(dksbZ rhu)

(a) jhej&Vheku vfHkfØ;k]

(b) dkfcZy ,ehu vfHkfØ;k]

(c) xkVjeku&,fYMgkbM la'ys"k.k]

(d) gSyksQkWeZ vfHkfØ;k]

(e) cSathu dk lYQksuhdj.kA
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Write notes on the following : (any three)

(a) Reimer-Tiemann reaction,

(b) Carbylamine reaction,

(c) Gattermann reaction,

(d) Haloform reaction,

(e) Sulphonation of benzene.

r r r r r d r r r r r
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